

PROPOSAL SUMMARY SHEET
RFP #25-060
Police Vehicle Upfitting

Business Name: AFI _____

Street Address: 6606 STADIUM DRIVE

City, State, Zip: KANSAS CITY MISSOURI 64129

Contact Name: ELTON TOWNE

Title: SALES EXECUTIVE _____

Phone: _____ Fax: _____

E-Mail address: ELTONT@AFI-KC.COM _____

PROPOSAL PRICE

SEE UNIT PRICE SHEET FOR FY 2026 RATES.

Year	Percent Increase Per Year
FY2027	3%
FY2028	3%
FY2029 (Option Year)	3%
FY2030 (Option Year)	3%

AUTHORIZATION & SIGNATURE

Name of Authorized Signee: ELTON TOWNE _____

Signature of Authorized Signee: Elton Towne _____

Title: SALES EXECUTIVE _____ Date: 12/03/2025 _____

RFP #25-060

ORLAND PARK

AMENDED Unit Price Sheet #1 - Marked K9 Vehicles
RFP #25-060 - POLICE VEHICLE UPFITTING

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the PROJECT in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

ITEM	DESCRIPTION	Manufacturer and Part #	QTY	UNIT PRICE	Cost
2025+ Ford PUI					
1	Speaker, Push Bumper and corner LEDS				
1	100W Composite Siren Speaker	soundoff signal ETSS100J	1	\$ 208.52	\$ 208.52
2	100n Speaker Bracket	soundoff signal ETSSVBK01	1	\$ 33.80	\$ 33.80
3	Universal Undercover Screw-In LED Insert. 5-wire harness. White	soundoff signal ELUC3H010W	2	\$ 88.92	\$ 177.84
4	Light ready push bumper. Textured steel. 2020+ FPIU. Black	westin 36-2035	1	\$ 175.89	\$ 175.89
5	4" Syncing fascia light with stud mount. Tricolor Red/Blue/White	soundoff signal EMPS2001P-8	2	\$ 145.60	\$ 291.20
6	Remote node. 4 Inputs, 10 Outputs	soundoff signal ENGND04102	1	\$ 199.16	\$ 199.16
7	Remote node harness kit.	soundoff signal ENGHNK05	1	\$ 48.88	\$ 48.88
Light Bar with Preemption Emitter					
8	48" roof top light bar. R/W-B/W front. R/A-B/A rear. Open spot for PE emmitter. 2020+ FPIU	soundoff signal ENNLB01ZPP-49B	1	\$ 2,383.16	\$ 2,383.16
9	Strobe tube with reflector assembly	nano tube nt-2500	1	\$ 79.00	\$ 79.00
10	Priority Green Nano Tube preemption power supply	priority green nano tube nt-2500	1	\$ 280.00	\$ 280.00
1/4 Window					
11	Dual deck/Grill mount lights Red/Blue	soundoff signal EMPS2001N-J	2	\$ 131.04	\$ 262.08
Adjacent License Plate					
12	4" Fascia light with quick mount. 18 LED Tricolor Red/Blue/White	soundoff signal EMPS2001D-8	2	\$ 145.60	\$ 291.20
Siren and Lighting Control					
13	Siren control. 200W dual tone. Console mount. Rotary siren	soundoff signal ENGCP18004	1	\$ 222.56	\$ 222.56
14	Siren conversion kit from console to remote	soundoff signal PSRN5HDK4	1	\$ 53.56	\$ 53.56
15	Module and Vehicle harness for vehicle.	soundoff signal PSRN5HDK1	1	\$ 93.08	\$ 93.08
Console, Computer Mount and Accessories					
16	Vehicle specific angled center console.	havis C-VS-1012-INUT-2	1	\$ 486.72	\$ 486.72
17	Self-adjusting double cup holder.	havis CUP2-1001	1	\$ 50.40	\$ 50.40
18	Hinged armrest for equipment console.	havis C-ARM-103	1	\$ 154.80	\$ 154.80
19	Long swing arm with motion device.	havis C-MD-114	1	\$ 203.04	\$ 203.04
20	Low-profile tilt swivel motion device.	havis C-MD-204	1	\$ 46.08	\$ 46.08
21	Custom radar mount	havis C-OHB-108	1	\$ 72.00	\$ 72.00
Electronics Mounting Platform					
24	16.5" x 40" Electronic equipment rack. 2020+ FPIU	afi AFIAC-EB-SL-TRAY	1	\$ 256.38	\$ 256.38
VHF and Data Antennas					
25	Black roof mount antenna	NMO150/450/758 Pulse Larsen	1	\$ 69.31	\$ 69.31
26	25' Coax antenna. 3/4" NMO Brass Mount - Black	PCTEL BMATMNC25	1	\$ 32.59	\$ 32.59
27	Antenna MIMO 5G x 4, WiFi 6 x 2, GNSS, SMA on Cell/5G & GNSS, RP-SMA on WiFi, Black, 15'coax	panorama SH-IN2463	1	\$ 284.71	\$ 284.71
Cargo Area Gun Lock					
28	Gun rack - Single Weapon, Electronic Lock and Partition Mounted horizontal.	jotto 475-2012	1	\$ 300.90	\$ -
29	Lock timer	jotto 475-0418	1	\$ 41.26	\$ 41.26
30	Lock head cable	jotto 475-8061	1	\$ 16.22	\$ 16.22
31	Momentary switch and cable	jotto 475-8062	1	\$ 35.68	\$ 35.68
K9 Equipment					
34	Black K9 trasport system for 2020+ Ford PIU	ace k9 K9-F28-1-B	1	\$ 3,756.24	\$ 3,756.24
35	K9 heat alarm with horn, siren, lightbar activation and dual window drop module.	ace k9 K9-A-203	1	\$ 1,595.00	\$ 1,595.00
36	Ace K9 AceWatchdog	ace k9 acewatchdog	1	\$ 899.00	\$ 899.00
37	Ace K9 10" fan kit	ace k9 ha-fkt-10	1	\$ 265.00	\$ 265.00

38	Window guard for K9 transport	ace k9 HA-FWG-10	1	\$ 95.00	\$ 95.00
	Installation				
32	Miscellaneous installation materials (wire, fuse holders, fuses, connectors etc.)	afiinstall	1	\$ 70.00	\$ 70.00
33	Installation labor. Install listed equipment and customer supplied 2-way radio, Radar, Printer,	afiinstall	1	\$ 5,280.00	\$ 5,280.00
	Vehicle Graphics				
41	Complete marked squad graphics and installation.	afographics	1	\$ 800.00	\$ 800.00
42	Vehicle Wrapping for Special Events and/or recognition	afographics	1	\$ 800.00	\$ 800.00

Proposer: ELTON TOWNE

Firm Name: AFI

Signed: Elton Towne

Title: SALES EXECUTIVE

Dated: 12/2/2025

ORLAND PARK

AMENDED Unit Price Sheet #2 - Marked Squad Vehicles
RFP #25-060 - POLICE VEHICLE UPFITTING

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the PROJECT in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

ITEM	DESCRIPTION	Manufacturer and Part # 2025+ Ford PUI	QTY	UNIT PRICE		Cost
1	Speaker, Push Bumper and corner LEDS					
1	100W Composite Siren Speaker	soundoff signal ETSS100J	1	\$ 208.52	\$ 208.52	
2	100n Speaker Bracket	soundoff signal ETSSVBK01	1	\$ 33.80	\$ 33.80	
3	Universal Undercover Screw-In LED Insert. 5-wire harness. White	soundoff signal ELUC3H010W	2	\$ 88.92	\$ 177.84	
4	Light ready push bumper. Textured steel. 2020+ FPIU. Black	westin 36-2035	1	\$ 175.89	\$ 175.89	
5	4" Syncing fascia light with stud mount. Tricolor Red/Blue/White	soundoff signal EMPS2001P-8	2	\$ 145.60	\$ 291.20	
6	Remote node. 4 Inputs, 10 Outputs	soundoff signal ENGND04102	1	\$ 199.16	\$ 199.16	
7	Remote node harness kit.	soundoff signal ENGHNK05	1	\$ 48.88	\$ 48.88	
	Light Bar with Preemption Emitter					
8	48" roof top light bar. R/W-B/W front. R/A-B/A rear. Open spot for PE emitter. 2020+ FPIU	soundoff signal ENNLB01ZPP-49B	1	\$ 2,383.16	\$ 2,383.16	
9	Strobe tube with reflector assembly	nano tube nt-2500	1	\$ 79.00	\$ 79.00	
10	Priority Green Nano Tube preemption power supply	priority green nano tube nt-2500	1	\$ 280.00	\$ 280.00	
	1/4 Window					
11	Dual deck/Grill mount lights Red/Blue	soundoff signal EMPS2001N-J	2	\$ 131.04	\$ 262.08	
	Adjacent License Plate					
12	4" Fascia light with quick mount. 18 LED Tricolor Red/Blue/White	soundoff signal EMPS2001D-8	2	\$ 145.60	\$ 291.20	
	Siren and Lighting Control					
13	Siren control. 200W dual tone. Console mount. Rotary siren	soundoff signal ENGCP18004	1	\$ 222.56	\$ 222.56	
14	Siren conversion kit from console to remote	soundoff signal PSRN5HDK4	1	\$ 53.56	\$ 53.56	
15	Module and Vehicle harness for vehicle.	soundoff signal PSRN5HDK1	1	\$ 93.08	\$ 93.08	
	Console, Computer Mount and Accessories					
16	Vehicle specific angled center console.	havis C-VS-1012-INUT-2	1	\$ 486.72	\$ 486.72	
17	Self-adjusting double cup holder.	havis CUP2-1001	1	\$ 50.40	\$ 50.40	
18	Hinged armrest for equipment console.	havis C-ARM-103	1	\$ 154.80	\$ 154.80	
19	Long swing arm with motion device.	havis C-MD-114	1	\$ 203.04	\$ 203.04	
20	Low-profile tilt swivel motion device.	havis C-MD-204	1	\$ 46.08	\$ 46.08	
21	Custom radar mount	havis C-OHB-108	1	\$ 72.00	\$ 72.00	
	Cell and Gun Rack					
22	Single cell 2020+ FPIU	jotto 475-0767	1	\$ 1,940.75	\$ 1,940.75	
23	Single weapon gun rack. Cell mounted.	jotto 475-2046	1	\$ 257.91	\$ 257.91	
	Electronics Mounting Platform					
24	16.5" x 40" Electronic equipment rack. 2020+ FPIU	afi AFIAC-EB-SL-TRAY	1	\$ 256.38	\$ 256.38	
	VHF and Data Antennas					
25	Black roof mount antenna	NMO150/450/758 Pulse Larsen	1	\$ 69.31	\$ 69.31	
26	25' Coax antenna. 3/4" NMO Brass Mount - Black	PCTEL BMATMNC25	1	\$ 32.59	\$ 32.59	
27	Antenna MIMO 5G x 4, WiFi 6 x 2, GNSS, SMA on Cell/5G & GNSS, RP-SMA on WiFi, Black, 15'coax	panorama SH-IN2463	1	\$ 284.71	\$ 284.71	
	Cargo Area Gun Lock					
28	Gun rack - Single Weapon, Electronic Lock and Partition Mounted Vertical	jotto 475-2012	1	\$ 300.90	\$ -	
29	Lock timer	jotto 475-0418	1	\$ 41.26	\$ 41.26	
30	Lock head cable	jotto 475-8061	1	\$ 16.22	\$ 16.22	
31	Momentary switch and cable	jotto 475-8062	1	\$ 35.68	\$ 35.68	
	Installation					
32	Miscellaneous installation materials (wire, fuse holders, fuses, connectors etc.)	afiinstall	1	\$ 70.00	\$ 70.00	

33	Installation labor. Install listed equipment and customer supplied 2-way radio, Printer, Radar.	afinstall	1	\$ 3,960.00	\$ 3,960.00
	Vehicle Graphics				
41	Complete marked squad graphics and installation.	afgraphics	1	\$ 800.00	\$ 800.00
42	Vehicle Wrapping for Special Events and/or recognition	afgraphics	1	\$ 800.00	\$ 800.00

Proposer: ELTON TOWNE

Firm Name: AFI

Signed: Elton Towne

Title: SALES EXECUTIVE

Dated: 12/2/2025

 ORLAND PARK

AMENDED Unit Price Sheet #3 - Marked Supervisor Vehicles
RFP #25-060 - POLICE VEHICLE UPFITTING

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the PROJECT in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

ITEM	DESCRIPTION	Manufacturer and Part #	QTY	UNIT PRICE	Cost
2025+ Ford Expedition SSV					
1	Speaker, Push Bumper and corner LEDs 100W Composite Siren Speaker	soundoff signal ETSS100J	1	\$ 208.52	\$ 208.52
2	100n Speaker Bracket	soundoff signal ETSSVBK01	1	\$ 33.80	\$ 33.80
3	Universal Undercover Screw-In LED Insert. 5-wire harness. White	soundoff signal ELUC3H010W	2	\$ 88.92	\$ 177.84
4	Light ready push bumper. Textured steel. 2020+ FPIU. Black	westin 36-2035	1	\$ 175.89	\$ 175.89
5	4" Syncing fascia light with stud mount. Tricolor Red/Blue/White	soundoff signal EMPS2001P-8	2	\$ 145.60	\$ 291.20
6	Remote node. 4 Inputs, 10 Outputs	soundoff signal ENGND04102	1	\$ 199.16	\$ 199.16
7	Remote node harness kit.	soundoff signal ENGHNK05	1	\$ 48.88	\$ 48.88
Light Bar with Preemption Emitter					
8	48" roof top light bar. R/W-B/W front. R/A-B/A rear. Open spot for PE emitter. 2020+ FPIU	soundoff signal ENNLB01ZPP-49B	1	\$ 2,383.16	\$ 2,383.16
9	Strobe tube with reflector assembly	nano tube nt-2500	1	\$ 79.00	\$ 79.00
10	Priority Green Nano Tube preemption power supply	priority green nano tube nt-2500	1	\$ 280.00	\$ 280.00
1/4 Window					
11	Dual deck/Grill mount lights Red/Blue	soundoff signal EMPS2001N-J	2	\$ 131.04	\$ 262.08
Adjacent License Plate					
12	4" Fascia light with quick mount. 18 LED Tricolor Red/Blue/White	soundoff signal EMPS2001D-8	2	\$ 145.60	\$ 291.20
Siren and Lighting Control					
13	Siren control. 200W dual tone. Console mount. Rotary siren	soundoff signal ENGCP18004	1	\$ 222.56	\$ 222.56
14	Siren conversion kit from console to remote	soundoff signal PSRN5HDK4	1	\$ 53.56	\$ 53.56
15	Module and Vehicle harness for vehicle.	soundoff signal PSRN5HDK1	1	\$ 93.08	\$ 93.08
Console, Computer Mount and Accessories					
16	Vehicle specific angled center console.	havis C-VS-1012-INUT-2	1	\$ 486.72	\$ 486.72
17	Self-adjusting double cup holder.	havis CUP2-1001	1	\$ 50.40	\$ 50.40
18	Hinged armrest for equipment console.	havis C-ARM-103	1	\$ 154.80	\$ 154.80
19	Long swing arm with motion device.	havis C-MD-114	1	\$ 203.04	\$ 203.04
20	Low-profile tilt swivel motion device.	havis C-MD-204	1	\$ 46.08	\$ 46.08
21	Custom radar mount	havis C-OHB-108	1	\$ 72.00	\$ 72.00
Cargo Barrier and Gun Rack					
22	Vehicle specific rear cargo barrier.	jotto 475-0067	1	\$ 505.50	\$ 505.50
23	Single weapon gun rack. Vertical mount behind angled center console.	jotto 475-2014	1	\$ 343.88	\$ 343.88
29	Lock timer	jotto 475-0418	1	\$ 41.26	\$ 41.26
30	Lock head cable	jotto 475-8061	1	\$ 16.22	\$ 16.22
31	Momentary switch and cable	jotto 475-8062	1	\$ 35.68	\$ 35.68
Electronics Mounting Platform					
24	16.5" x 40" Electronic equipment rack. 2020+ FPIU	afi AFIAC-EB-SL-TRAY	1	\$ 256.38	\$ 256.38
VHF and Data Antennas					
25	Black roof mount antenna	NMO150/450/758 Pulse Larsen	1	\$ 69.31	\$ 69.31
26	25' Coax antenna. 3/4" NMO Brass Mount - Black	PCTEL BMATMNC25	1	\$ 32.59	\$ 32.59
27	Antenna MIMO 5G x 4, WiFi 6 x 2, GNSS, SMA on Cell/5G & GNSS, RP-SMA on WiFi, Black, 15'coax	panorama SH-IN2463	1	\$ 284.71	\$ 284.71
Rear Cargo Area					
28	Truck Vault double drawer Magnum vault. Simplex combination lock. Black.	truckvault Q10040	1	\$ 2,433.55	\$ -
Installation					
32	Miscellaneous installation materials (wire, fuse holders, fuses, connectors etc.)	afiinstall	1	\$ 70.00	\$ 70.00

33	Installation labor. Install listed equipment and customer supplied 2-way radio, Radar, Printer, Vehicle Graphics	afinstall	1	\$ 4,180.00	\$ 4,180.00
41	Complete marked squad graphics and installation.	afgraphics	1	\$ 800.00	\$ 800.00
42	Vehicle Wrapping for Special Events and/or recognition	afgraphics	1	\$ 800.00	\$ 800.00

Proposer: ELTON TOWNE

Firm Name: AFI

Signed: Elton Towne

Title: SALES EXECUTIVE

Dated: 12/2/2025

ORLAND PARK

AMENDED Unit Price Sheet #4 - Unmarked Investigator Vehicles
RFP #25-060 - POLICE VEHICLE UPFITTING

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the PROJECT in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

ITEM	DESCRIPTION	Manufacturer and Part # 2025+ Ford Expedition SSV	QTY	UNIT PRICE	COST
1	Speaker, Push Bumper and corner LEDS				
1	100W Composite Siren Speaker	soundoff signal ETSS100J	1	\$ 208.52	\$ 208.52
2	100n Speaker Bracket	soundoff signal ETSSVBK01	1	\$ 33.80	\$ 33.80
3	Universal Undercover Screw-In LED Insert, 5-wire harness, White	soundoff signal ELUC3H010W	2	\$ 88.92	\$ 177.84
4	Remote node, 4 Inputs, 10 Outputs	soundoff signal ENGND04102	1	\$ 199.16	\$ 199.16
5	Remote node harness kit.	soundoff signal ENGHNK05	1	\$ 48.88	\$ 48.88
	Preemption Emitter				
6	Strobe tube with reflector assembly	priority green nt-2500	1	\$ 79.00	\$ 79.00
7	Priority Green Nano Tube preemption power supply	priority green nano tube nt-2500	1	\$ 280.00	\$ 280.00
	Windshield/Rear Window Lights				
8	Two red/blue upper windshield lights	soundoff signal ENFWB01SFF	2	\$ 337.22	\$ 674.44
9	Two red/blue upper rear window lights	soundoff signal ENFWB01JF3	2	\$ 337.22	\$ 674.44
	Siren and Lighting Control				
10	Siren control, 200W dual tone, Console mount, Rotary siren	soundoff signal ENGCP18004	1	\$ 222.56	\$ 222.56
11	Siren conversion kit from console to remote	soundoff signal PSRN5HDK4	1	\$ 53.56	\$ 53.56
12	Module and Vehicle harness for vehicle	soundoff signal PSRN5HDK1	1	\$ 93.08	\$ 93.08
13	Headlight and tail light wig wag control.	soundoff signal ETHFSS-FV	1	\$ 116.48	\$ 116.48
	VHF Antenna				
14	Black roof mount antenna	NMO150/450/758 Pulse Larsen	1	\$ 69.31	\$ 69.31
15	25' Coax antenna, 3/4" NMO Brass Mount - Black	PCTEL BMATMNC25	1	\$ 32.59	\$ 32.59
	Installation				
16	Miscellaneous installation materials (wire, fuse holders, fuses, connectors etc.)	afinstall	1	\$ 70.00	\$ 70.00
17	Installation labor, Install listed equipment and customer supplied 2-way radio	afinstall	1	\$ 1,650.00	\$ 1,650.00

Proposer: ELTON TOWNE

Firm Name: AFI

Signed: Elton Towne

Title: SALES EXECUTIVE

Dated: 12/2/2025

PROPOSAL SUMMARY SHEET
RFP #25-060
Police Vehicle Upfitting

Business Name: NROUTE Enterprises LLC dba NROUTE Emergency Vehicles

Street Address: 6102 N 23rd Street

City, State, Zip: Ozark, MO 65721

Contact Name: William Reynolds

Title: Member/CFO

Phone: 417-731-2900 Fax: N/A

E-Mail address: will@nroutellc.com

PROPOSAL PRICE

SEE UNIT PRICE SHEET FOR FY 2026 RATES.

Year	Percent Increase Per Year
FY2027	3.5%
FY2028	5%
FY2029 (Option Year)	5%
FY2030 (Option Year)	5%

AUTHORIZATION & SIGNATURE

Name of Authorized Signee: William Reynolds

Signature of Authorized Signee: WR

Title: Member/CFO Date: 12/04/2025



AMENDED Unit Price Sheet #1 - Marked K9 Vehicles
RFP #25-060 - POLICE VEHICLE UPFITTING

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the PROJECT in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

ITEM	DESCRIPTION	Manufacturer and Part #	QTY	UNIT PRICE	Cost
2025+ Ford PUI					
1	Speaker, Push Bumper and corner LEDs				
1	100W Composite Siren Speaker	SoundOff Signal - ETSS100J	1	\$ 208.52	\$ 208.52
2	100n Speaker Bracket	SoundOff Signal - ETSSVBK01	1	\$ -	\$ -
3	Universal Undercover Screw-In LED Insert. 5-wire harness. White	SoundOff Signal - ELUC3H010W	2	\$ 88.92	\$ 177.84
4	Light ready push bumper. Textured steel. 2020+ FPIU. Black	Setina - BK1509ITU20	1	\$ 532.88	\$ 532.88
5	4" Syncing fascia light with stud mount. Tricolor Red/Blue/White	SoundOff Signal - ENFRMS4BRW	2	\$ 121.68	\$ 243.36
6	Remote node. 4 Inputs, 10 Outputs	Not Needed	1	\$ -	\$ -
7	Remote node harness kit.	Not Needed	1	\$ -	\$ -
Light Bar with Preemption Emitter					
8	48" roof top light bar. R/W-B/W front. R/A-B/A rear. Open spot for PE emitter. 2020+ FPIU	SoundOff Signal - ENNLB01HV-5KR	1	\$ 2,499.00	\$ 2,499.00
9	Strobe tube with reflector assembly	ECCO - LINEARMTC	1	\$ 71.64	\$ 71.64
10	Priority Green Nano Tube preemption power supply	ECCO - MDPEMODULE	1	\$ 93.40	\$ 93.40
1/4 Window					
11	Dual deck/Grill mount lights Red/Blue	SoundOff Signal - EMPS2STS4J/PMP2WSDBB	2	\$ 279.24	\$ 558.48
Adjacent License Plate					
12	4" Fascia light with quick mount. 18 LED Tricolor Red/Blue/White	SoundOff Signal - EMPS2QMS5RBW	2	\$ 145.60	\$ 291.20
Siren and Lighting Control					
13	Siren control. 200W dual tone. Console mount. Rotary siren	SoundOff Signal - ENGSA5100CSR	1	\$ 777.40	\$ 777.40
14	Siren conversion kit from console to remote	No Charge	1		\$ -
15	Module and Vehicle harness for vehicle.	SoundOff Signal - ENGLMK012	1	\$ 390.00	\$ 390.00
Console, Computer Mount and Accessories					
16	Vehicle specific angled center console.	Havis - C-VS-1012-INUT-2	1	\$ 473.20	\$ 473.20
17	Self-adjusting double cup holder.	Havis - CUP2-1001	1	\$ 49.00	\$ 49.00
18	Hinged armrest for equipment console.	Havis - C-ARM-103	1	\$ 150.50	\$ 150.50
19	Long swing arm with motion device.	Havis - C-MD-112	1	\$ 265.30	\$ 265.30
20	Low-profile tilt swivel motion device.	Included in Line 19	1	\$ -	\$ -
21	Custom radar mount	NRTCST - RADARFPIU25+	1	\$ 35.00	\$ 35.00
Electronics Mounting Platform					
24	16.5" x 40" Electronic equipment rack. 2020+ FPIU	Custom Cage - FORDFPIU/20+EC	1	\$ 250.00	\$ 250.00
VHF and Data Antennas					
25	Black roof mount antenna	Laird - QWB152	1	\$ 11.00	\$ 11.00
26	25' Coax antenna. 3/4" NMO Brass Mount - Black	Laird - MB8U	1	\$ 16.72	\$ 16.72
27	Antenna MIMO 5G x 4, WiFi 6 x 2, GNSS, SMA on Cell/5G & GNSS, RP-SMA on WiFi, Black, 15'coax	Panorama - GP-IN2850	1	\$ 276.30	\$ 276.30
Cargo Area Gun Lock					
28	Gun rack - Single Weapon, Electronic Lock and Partition Mounted horizontal.	Weiser Solutions - WEI-403K9	1	\$ 395.24	\$ -
29	Lock timer	Included in Line 28	1		\$ -
30	Lock head cable	Included in Line 28	1		\$ -
31	Momentary switch and cable	Included in Line 28	1		\$ -
K9 Equipment					
34	Black K9 trasnport system for 2020+ Ford PIU	Havis - K9-F28-1-B	1	\$ 3,651.90	\$ 3,651.90
35	K9 heat alarm with horn, siren, lightbar activation and dual window drop module.	Ace K9 - HA-2520	1	\$ 1,095.00	\$ 1,095.00

36	Ace K9 AceWatchdog	Ace K9 - AWD-7040	1	\$ 899.00	\$ 899.00
37	Ace K9 10" fan kit	Ace K9 - HA-FKT-10-P	1	\$ 265.56	\$ 265.56
38	Window guard for K9 transport	Included in Line 34	1		\$ -
	Installation				
32	Miscellaneous installation materials (wire, fuse holders, fuses, connectors etc.)		1	\$ 493.90	\$ 493.90
33	Installation labor. Install listed equipment and customer supplied 2-way radio, Radar, Printer,		1	\$ 4,290.00	\$ 4,290.00
	Vehicle Graphics				
41	Complete marked squad graphics and installation.	In House - 3M Material	1	\$ 672.50	\$ 672.50
42	Vehicle Wrapping for Special Events and/or recognition	In House - 3M Material	1	\$ 6,000.00	\$ 6,000.00

Proposer: William Reynolds

Firm Name: NROUTE Emergency Vehicles

Signed: WR

Title: Member/CFO

Dated: 12/4/2025



AMENDED Unit Price Sheet #2 - Marked Squad Vehicles
RFP #25-060 - POLICE VEHICLE UPFITTING

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the PROJECT in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

ITEM	DESCRIPTION	Manufacturer and Part #	QTY	UNIT PRICE	Cost
2025+ Ford PUI					
1	Speaker, Push Bumper and corner LEDS				
1	100W Composite Siren Speaker	SoundOff Signal - ETSS100J	1	\$ 208.52	\$ 208.52
2	100n Speaker Bracket	SoundOff Signal - ETSSVBK01	1	\$ -	\$ -
3	Universal Undercover Screw-In LED Insert. 5-wire harness. White	SoundOff Signal - ELUC3H010W	2	\$ 88.92	\$ 177.84
4	Light ready push bumper. Textured steel. 2020+ FPIU. Black	Setina - BK1509ITU20	1	\$ 532.88	\$ 532.88
5	4" Syncing fascia light with stud mount. Tricolor Red/Blue/White	SoundOff Signal - ENFRMS4BRW	2	\$ 121.68	\$ 243.36
6	Remote node, 4 Inputs, 10 Outputs	Not Needed	1	\$ -	\$ -
7	Remote node harness kit.	Not Needed	1	\$ -	\$ -
Light Bar with Preemption Emitter					
8	48" roof top light bar. R/W-B/W front. R/A-B/A rear. Open spot for PE emitter. 2020+ FPIU	SoundOff Signal - ENNLB01HV-5KR	1	\$ 2,499.00	\$ 2,499.00
9	Strobe tube with reflector assembly	ECCO - LINEARMTC	1	\$ 71.64	\$ 71.64
10	Priority Green Nano Tube preemption power supply	ECCO - MDPEMODULE	1	\$ 93.40	\$ 93.40
1/4 Window					
11	Dual deck/Grill mount lights Red/Blue	SoundOff Signal - EMPS2STS4J/PMP2WSDDB	2	\$ 279.24	\$ 558.48
Adjacent License Plate					
12	4" Fascia light with quick mount. 18 LED Tricolor Red/Blue/White	SoundOff Signal - EMPS2QMS5RBW	2	\$ 145.60	\$ 291.20
Siren and Lighting Control					
13	Siren control. 200W dual tone. Console mount. Rotary siren	SoundOff Signal - ENGSA5100CSR	1	\$ 777.40	\$ 777.40
14	Siren conversion kit from console to remote	No Charge	1		\$ -
15	Module and Vehicle harness for vehicle.	SoundOff Signal - ENGLMK012	1	\$ 390.00	\$ 390.00
Console, Computer Mount and Accessories					
16	Vehicle specific angled center console.	Havis - C-VS-1012-INUT-2	1	\$ 473.20	\$ 473.20
17	Self-adjusting double cup holder.	Havis - CUP2-1001	1	\$ 49.00	\$ 49.00
18	Hinged armrest for equipment console.	Havis - C-ARM-108	1	\$ 193.90	\$ 193.90
19	Long swing arm with motion device.	Havis - C-MD-112	1	\$ 265.30	\$ 265.30
20	Low-profile tilt swivel motion device.	Included in Line 19	1	\$ -	\$ -
21	Custom radar mount	NRTCST - RADARFPIU25+	1	\$ 35.00	\$ 35.00
Cell and Gun Rack					
22	Single cell 2020+ FPIU	Custom Cage - FORDFPIU/20+	1	\$ 840.00	\$ 840.00
23	Single weapon gun rack. Cell mounted.	Weiser Solutions - WEI-003	1	\$ 424.20	\$ 424.20
Electronics Mounting Platform					
24	16.5" x 40" Electronic equipment rack. 2020+ FPIU	Custom Cage - FORDFPIU/20+EC	1	\$ 250.00	\$ 250.00
VHF and Data Antennas					
25	Black roof mount antenna	Laird - QWB152	1	\$ 11.00	\$ 11.00
26	25' Coax antenna. 3/4" NMO Brass Mount - Black	Laird - MB8U	1	\$ 16.72	\$ 16.72
27	Antenna MIMO 5G x 4, WiFi 6 x 2, GNSS, SMA on Cell/5G & GNSS, RP-SMA on WiFi, Black, 15'coax	Panorama - GP-IN2850	1	\$ 276.30	\$ 276.30
Cargo Area Gun Lock					
28	Gun rack - Single Weapon, Electronic Lock and Partition Mounted Vertical	Weiser Solutions - WEI-003	1	\$ 424.20	\$ -
29	Lock timer	Included in Line 28	1		\$ -
30	Lock head cable	Included in Line 28	1		\$ -
31	Momentary switch and cable	Included in Line 28	1		\$ -
Installation					

32	Miscellaneous installation materials (wire, fuse holders, fuses, connectors etc.)		1	\$ 493.90	\$ 493.90
33	Installation labor. Install listed equipment and customer supplied 2-way radio, Printer, Radar,		1	\$ 3,630.00	\$ 3,630.00
	Vehicle Graphics				
41	Complete marked squad graphics and installation.	In House - 3M Material	1	\$ 672.50	\$ 672.50
42	Vehicle Wrapping for Special Events and/or recognition	In House - 3M Material	1	\$ 6,000.00	\$ 6,000.00

Proposer: William Reynolds

Firm Name: NROUTE Emergency Vehicles

Signed: WR

Title: Member/CFO

Dated: 12/4/2025



AMENDED Unit Price Sheet #3 - Marked Supervisor Vehicles
RFP #25-060 - POLICE VEHICLE UPFITTING

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the PROJECT in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

ITEM	DESCRIPTION	Manufacturer and Part #	QTY	UNIT PRICE	Cost
2025+ Ford Expedition SSV					
1	Speaker, Push Bumper and corner LEDS 100W Composite Siren Speaker	SoundOff Signal - ETSS100J	1	\$ 208.52	\$ 208.52
2	100n Speaker Bracket	Not Available will use universal bracket incld	1	\$ -	\$ -
3	Universal Undercover Screw-In LED Insert. 5-wire harness. White	SoundOff Signal - ELUC3H010W	2	\$ 88.92	\$ 177.84
4	Light ready push bumper. Textured steel. 2020+ FPIU. Black	Setina - BK1509EPD25	1	\$ 532.88	\$ 532.88
5	4" Syncing fascia light with stud mount. Tricolor Red/Blue/White	SoundOff Signal - ENFRMS4BRW	2	\$ 121.68	\$ 243.36
6	Remote node. 4 Inputs, 10 Outputs	Not Needed	1	\$ -	\$ -
7	Remote node harness kit.	Not Needed	1	\$ -	\$ -
Light Bar with Preemption Emitter					
8	48" roof top light bar. R/W-B/W front. R/A-B/A rear. Open spot for PE emmitter. 2020+ FPIU	SoundOff Signal - ENNLB01HV-5KR	1	\$ 2,499.00	\$ 2,499.00
9	Strobe tube with reflector assembly	ECCO - LINEARMTC	1	\$ 71.64	\$ 71.64
10	Priority Green Nano Tube preemption power supply	ECCO - MDPEMODULE	1	\$ 93.40	\$ 93.40
1/4 Window					
11	Dual deck/Grill mount lights Red/Blue	SoundOff Signal - EMPS2STS4J/PMP2WSDB	2	\$ 279.24	\$ 558.48
Adjacent License Plate					
12	4" Fascia light with quick mount. 18 LED Tricolor Red/Blue/White	SoundOff Signal - EMPS2QMSS5RBW	2	\$ 145.60	\$ 291.20
Siren and Lighting Control					
13	Siren control. 200W dual tone. Console mount. Rotary siren	SoundOff Signal - ENGSA5100CSR	1	\$ 777.40	\$ 777.40
14	Siren conversion kit from console to remote	No Charge	1		\$ -
15	Module and Vehicle harness for vehicle.	SoundOff Signal - ENGLMK012	1	\$ 390.00	\$ 390.00
Console, Computer Mount and Accessories					
16	Vehicle specific angled center console.	Havis - C-VSW-2600-EXPD	1	\$ 658.70	\$ 658.70
17	Self-adjusting double cup holder.	Havis - CUP2-1001	1	\$ 49.00	\$ 49.00
18	Hinged armrest for equipment console.	Havis - C-ARM-108	1	\$ 193.90	\$ 193.90
19	Long swing arm with motion device.	Havis - C-MD-112	1	\$ 265.30	\$ 265.30
20	Low-profile tilt swivel motion device.	Included in Line 19	1	\$ -	\$ -
21	Custom radar mount	NRTCST - RADAREXP25+	1	\$ 35.00	\$ 35.00
Cargo Barrier and Gun Rack					
22	Vehicle specific rear cargo barrier.	Custom Cage - FORDEXP/18+CB	1	\$ 560.00	\$ 560.00
23	Single weapon gun rack. Vertical mount behind angled center console.	Weiser - WEI-003/FSFEXP	1	\$ 714.14	\$ 714.14
29	Lock timer	Included in Line 23	1		\$ -
30	Lock head cable	Included in Line 23	1		\$ -
31	Momentary switch and cable	Included in Line 23	1	\$ -	\$ -
Electronics Mounting Platform					
24	16.5" x 40" Electronic equipment rack. 2020+ FPIU	Custom Cage - FORDEXP/18+EC	1	\$ 250.00	\$ 250.00
VHF and Data Antennas					
25	Black roof mount antenna	Laird - QWB152	1	\$ 11.00	\$ 11.00
26	25' Coax antenna. 3/4" NMO Brass Mount - Black	Laird - MB8U	1	\$ 16.72	\$ 16.72
27	Antenna MIMO 5G x 4, WiFi 6 x 2, GNSS, SMA on Cell/5G & GNSS, RP-SMA on WiFi, Black,	Panorama - GP-IN2850	1	\$ 276.30	\$ 276.30
Rear Cargo Area					
28	Truck Vault double drawer Magnum vault. Simplex combination lock. Black.	Truck Vault - T-FDEXPM2-25N-TR-PP-RD	1	\$ 3,999.00	\$ -
Installation					
32	Miscellaneous installation materials (wire, fuse holders, fuses, connectors etc.)		1	\$ 493.90	\$ 493.90
33	Installation labor. Install listed equipment and customer supplied 2-way radio, Radar, Printer.		1	\$ 3,795.00	\$ 3,795.00
Vehicle Graphics					
41	Complete marked squad graphics and installation.	In House - 3M Material	1	\$ 672.50	\$ 672.50

42	Vehicle Wrapping for Special Events and/or recognition	In House - 3M Material	1	\$ 6,000.00	\$ 6,000.00
----	--	------------------------	---	-------------	-------------

Proposer: William Reynolds

Firm Name: NROUTE Emergency Vehicles

Signed: WR

Title: Member/CFO

Dated: 12/4/2025



AMENDED Unit Price Sheet #4 - Unmarked Investigator Vehicles
RFP #25-060 - POLICE VEHICLE UPFITTING

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the PROJECT in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

ITEM	DESCRIPTION	Manufacturer and Part #	QTY	UNIT PRICE	Cost
2025+ Ford Expedition SSV					
1	Speaker, Push Bumper and corner LEDs 100W Composite Siren Speaker	SoundOff Signal - ETSS100J	1	\$ 208.52	\$ 208.52
2	100n Speaker Bracket	Not Available will use universal bracket incld	1	\$ -	\$ -
3	Universal Undercover Screw-In LED Insert, 5-wire harness, White	SoundOff Signal - ELUC3H010W	2	\$ 88.92	\$ 177.84
4	Remote node, 4 Inputs, 10 Outputs	Not Needed	1	\$ -	\$ -
5	Remote node harness kit.	Not Needed	1	\$ -	\$ -
Preemption Emitter					
6	Strobe tube with reflector assembly	ECCO - LINEARMTC	1	\$ 71.64	\$ 71.64
7	Priority Green Nano Tube preemption power supply	ECCO - MDPEMODULE	1	\$ 93.40	\$ 93.40
Windshield/Rear Window Lights					
8	Two red/blue upper windshield lights	SoundOff Signal - EMPS2STS4J/PMP2WSSB	2	\$ 145.60	\$ 291.20
9	Two red/blue upper rear window lights	SoundOff Signal - EMPS2STS4J/PMP2WSSB	2	\$ 145.60	\$ 291.20
Siren and Lighting Control					
10	Siren control, 200W dual tone. Console mount. Rotary siren	SoundOff Signal - ENGSA5100CSR	1	\$ 777.40	\$ 777.40
11	Siren conversion kit from console to remote	No Charge	1	\$ -	\$ -
12	Module and Vehicle harness for vehicle.	SoundOff Signal - ENGLMK012	1	\$ 390.00	\$ 390.00
13	Headlight and tail light wig wag control.	SoundOff Signal - ETFBSSN-P	1	\$ 56.16	\$ 56.16
VHF Antenna					
14	Black roof mount antenna	Laird - QWB152	1	\$ 11.00	\$ 11.00
15	25' Coax antenna, 3/4" NMO Brass Mount - Black	Laird - MB8U	1	\$ 16.72	\$ 16.72
Installation					
16	Miscellaneous installation materials (wire, fuse holders, fuses, connectors etc.)	Multiple	1	\$ 173.88	\$ 173.88
17	Installation labor. Install listed equipment and customer supplied 2-way radio.		1	\$ 1,595.00	\$ 1,595.00

Proposer: William Reynolds

Firm Name: NROUTE Emergency Vehicles

Signed: WR

Title: Member/CFO

Dated: 12/4/2025